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Sum and Difference Identities 6.3

Overview of problems

®  Example Set: A

Use the sum and difference identities to determine the exact value of each of the
following expressions.

1. CcoS (£+£)
4 3

T 3
2. sin (- + —)

6 4

4r 5
3. tan (— + —)

3 4

4. tan (75°)

5. sin (165°)
6. sin (f—z)

7. tan(2)
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Sum and Difference Identities 6.3

Overview of problems

®  Example Set: B

Find the sum or difference for each question.

1. sin(A) = % and sin(B) = 1—53 angle A and B are in quadrant I, Find cos (A — B)

2. cos(4) = —1—§

3
cos(B) = — < angle A is in quad 11, and angle B is quad 111, Find sin(A + B)

Use the sum and difference identities to determine the exact value of each of the
following expressions.

tan(s—n) — tan (1)
16 16

1 + tan (i—:)tan (1_716)

tan(70°) — tan (10°)
1 + tan (70°)tan (10°)
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Sum and Difference Identities 6.3

Overview of problems

®  Example Set: C

Use the sum and difference identities to verify the following identities.

1. sin (g — x) cos(—x) = cos?x

2. tan(n + Zn) =0
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Sum and Difference Identities 6.3

Overview of problems

®  Example Set: A -ANSWER KEY

Use the sum and difference identities to determine the exact value of each of the
following expressions.

T T —/6+/2
1. cos|—+-— =
4 3 4
. (n 371) \/E—\/E
2. sin{—-+—) =
6 4 4
41 5w
3 tan(—+—)=— 3—-2
3 4

4. tan(75°) = \/5 + 2

V6—+/2
4

5. sin(165°) =
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Sum and Difference Identities 6.3

Overview of problems

™  Example Set: B -ANSWER KEY

Find the sum or difference for each question.

1. sin(A) = % and sin(B) = 1—53 angle A and B are in quadrant I, Find cos (A — B)

56

65

2. cos(4) = —1—3

3
cos(B) = — < angle A is in quad I1,and angle B is quad 111, Find sin(A + B)

36
85
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Sum and Difference Identities 6.3

Overview of problems

Use the sum and difference identities to determine the exact value of each of the
following expressions.

tan(i—:) — tan (%)

1 + tan (i—:)tan (%)

tan(70°) — tan (10°)
1 + tan (70°)tan (10°)

tan(60°) = V3
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®  Example Set: C -ANSWER KEY

Use the sum and difference identities to verify the following identities.

1. sin (g — x) cos(—x) = cos? x

sSwn (% —x\cos (-x) = (,oszx
sin (A-B)= smAws® — cosAsing

Sih('_".z._ —%3 = Siv\% CoSY — c.osg..‘»‘wx

= | - cesx — O-smm¥%

ﬁin(%—-*}: cosS ¥

s (3"2_ —x\cos (-¥) = cos’x

k=
Cos¥ Cos(-%)=Cos %

cos (-)= Cos ¥
2
CosSYK:-CoSK = oS K

z k]
oS Y. = CoS K

TabletClass.com, LLC © 2022




Sum and Difference Identities 6.3

Overview of problems

TABLET
CLASS

_.COM

2. tan(n + 27r) =0

+an (‘11"-!- 1'“’): O

‘an (f +20) = tan v + tan 1T

] — tanw tan 2t

antr= O = © 4+ O
| — ©-0O

+an 2= O
Yan (™ +20) = _‘\-’.’.

Yan (™ +20)y= O
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